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Question Number : 1 Question Id : 34844244045 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement about development.
Options:

1. Development is unidirectional and unidimensional.
2. Development is modifiable.

3. Development is totally genetically programmed.

4, Individuals achieve developmental milestones at the same age and pace.

Question Number : 1 Question Id : 34844244045 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 34844244046 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following principle of development proposes that children gain muscular control of

arms relatively earlier than that of fingers?
Options :

1. Proximodistal Principle

2. Cephalocandal Principle

3. Independence of systems Principle

4. Hierarchical integration principle

Question Number : 2 Question Id : 34844244046 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 34844244047 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Physical traits of colour of eyes and hair are
Options :

1. dominantly determined by environmental factors.
2. inherited.

3. influence by cultural factors.

4. a result of interaction between heredity and environment.

Question Number : 3 Question Id : 34844244047 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 34844244048 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
is the primary agency of socialization of children.

Options :



1. School
2. Mass-media
3. Religion

4. Family

Question Number : 4 Question Id : 34844244048 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 34844244049 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When a child can solve a problem with concrete objects only, his problem solving characteristics

come under the stage of-
Options:

1. Sensori-motor stage.

2. Pre-operational stage.

3. Concrete operational stage.

4. Formal operational stage.



Question Number : 5 Question Id : 34844244049 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 34844244050 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A child made a mental note that all creatures that have wings and can fly are called birds. Later,
she saw a bat in a picture book and identifies it as a bird instead of mammal. The process of

knowledge construction described here is:
Options :

1. Assimilation

2. Accommodation

3. Seriation

4. Conservation

Question Number : 6 Question Id : 34844244050 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 34844244051 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Who proposed the term 'Zone of Proximal Development' ?
Options:

1. Lawrence Kohlberg

2. Lev Vygotsky

3.Jerome Brunner

4. Jean Piaget

Question Number : 7 Question Id : 34844244051 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 34844244052 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following correctly specifies the major difference between Jean Piaget and Lev

Vygotsky's views on cognitive development of children?

Options:

1. While Piaget emphasized childs' independent efforts to make sense of their world; Vygotsky
views cognitive development as a socially mediated process.

2. While Piaget viewed children as active independent beings; Vygotsky viewed children as being

controlled primarily by their environment.

3. While Piaget emphasized the importance of language in the cognitive development of children;

Vygotsky emphasized the biological side of cognitive development.

4. While according to Piaget, children speak to themselves for self-guidance, for Vygotsky,

children's talk is indicative of egocentricism.

Question Number : 8 Question Id : 34844244052 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 34844244053 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Fatima reasons- "You should be honest because then your parents would be proud of you". In

which stage of Lawrence Kohlberg's theory of moral reasoning does Fatima come under?
Options:

1. Social contract orientation

2. Law and order orientation

3. Good boy-good girl orientation

4. Punishment-obedience orientation

Question Number : 9 Question Id : 34844244053 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 34844244054 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following will help in creating conducive learning environment in class?
Options :

1. Providing equal opportunities of participation to all students.

2. Making ability based rigid groups in class.

3. Focusing only on high achievers in class.

4. Encouraging students to get high marks by any means.

Question Number : 10 Question Id : 34844244054 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 34844244055 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a primary characteristics of progressive education?
Options :

1. Frequent paper-pencil based tests to assess learning.

2. Emphasis on scoring highest in the examinations.

3. Flexible curriculum and assessment in the classroom.

4. Frequent use of extrinsic motivators.

Question Number : 11 Question Id : 34844244055 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 34844244056 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

According to Howard Gardner's theory of Multiple Intelligences, if a child in the classroom is able

to respond appropriately to the temperaments, intentions and moods of peer group, she has-
Options :

1. Bodily-Kinesthetic Intelligence

2. Intra personal Intelligence

3. Inter personal Intelligence

4. Musical intelligence

Question Number : 12 Question Id : 34844244056 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 34844244057 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While teaching the concept of occupation, Monica showed flash cards of both men and women in

non-traditional roles. This strategy will help in-



Options :

1. promoting gender stereotypes

2. promoting gender stereotype flexibility
3. promoting gender hierarchy

4. modelling gender typing

Question Number : 13 Question Id : 34844244057 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 34844244058 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a higher-order thinking skill?
Options :

1. Analysis

2. Evaluation

3. Creation



4. Recall

Question Number : 14 Question Id : 34844244058 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 34844244059 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the example of Criterion-referenced assessment?
Options:

1. a test based on criterion of minimum level of learning.

2. a test with the percentile as evaluation criterion.

3. a test with 'z' scores as evaluation criterion.

4. a test which gives students rank in a class.

Question Number : 15 Question Id : 34844244059 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 34844244060 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to 'The Rights of Persons with Disabilities Act, 2016', the correct way to refer to a person

who has limitations in intellectual functioning is-
Options :

1. mentally retarded

2. person with intellectual handicap

3. mentally handicap

4. person with intellectual disability

Question Number : 16 Question Id : 34844244060 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 34844244061 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following does not characterise inclusion?
Options:

1. Welcoming and celebrating diversity.

2. Enabling children's self-esteem and confidence to learn.
3. Removing physical, social and attitudanal barriers.

4. Having separate school for children with hearing impairment.

Question Number : 17 Question Id : 34844244061 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 34844244062 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rajan appears to be lost in his world as he avoids eye contact with others and plays alone with a
feather throughout the day. Rajan's behaviour is indicating towards which of the following

disorder?

Options :

1. Muscular dystrophy

2. Autism Spectrum Disorder
3. Dyscalculia

4. Dysphoria

Question Number : 18 Question Id : 34844244062 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Wm%ﬁgﬁmﬁ@\m@ﬂu&m I , 3% G0 AT & 3.0 ] T AT T < T 0 o 14 e
GO T2 2| T 1 9% e (91 9 9 T T o o e e 27
Options :

1nmﬂ3ﬂ'qgﬁ%lw

[a [
5. TTAN T TR

TS F 3Fg

. =
4. TITE |9~ Johcd

Question Number : 19 Question Id : 34844244063 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Difficult in making omissions, reversals and substitution while reading text is an indication of-
Options:

1. Dysonia

2. Dyslexia

3. Dyscalculia

4. Dysphoria

Question Number : 19 Question Id : 34844244063 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 34844244064 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The ability to think about something in novel and unusual ways and coming up with unique

solutions to a problem is called-
Options :

1. Impulsivity



2. Reversibility
3. Hyperactivity

4. Creativity

Question Number : 20 Question Id : 34844244064 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 34844244065 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher uses a text and some pictures of fruits and vegetables to facilitate discussion with her
students. The students link these details with previous knowledge and learn the concepts of

nutrition. This approach is based on-
Options :

1. Classical conditioning of learning
2. Theory of reinforcement

3. Operant conditioning of learning

4. Construction of knowledge



Question Number : 21 Question Id : 34844244065 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 34844244066 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Srija strongly believes that she will fail in the upcoming Math test, just like the previous time and
has stopped exerting effort in the subject. Also, her teacher holds low expectation of her. Srija

seems to be-

Options:

1. lazy and someone who makes excuses.
2. experiencing learned helplessness.

3. prone to escapism.

4. a rational decision maker.

Question Number : 22 Question Id : 34844244066 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 34844244067 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Abeer's class, children participate in a wide range of challenging activities along with teacher

and peers to jointly construct knowledge. This type of classroom will be called-
Options :

1. Social constructivist

2. Individual constructivist

3. Traditional classroom

4. Multilingual classroom

Question Number : 23 Question Id : 34844244067 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 34844244068 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following pedagogical strategies does National Education Policy 2020 propose?
(i) Inquiry-based learning

(ii)Story-telling-based pedagogy

(iii)Drill and practice

(iv)Discussion-based classrooms
Options :

1. (i) (i) (iii)

2. (i) (i) (iv)

3. (ii) (iii) (iv)

4. (i) (iii) (iv)

Question Number : 24 Question Id : 34844244068 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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5. (i1), (iii), (iv)

Question Number : 25 Question Id : 34844244069 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Referring to similar problems to arrive at the solution for given problem is referred as:
Options :

1. Analogy

2. Hypothesis-testing

3. Mnemonics

4. Means-end analysis

Question Number : 25 Question Id : 34844244069 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 34844244070 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Concept maps help in facilitating understanding of concepts by:
Options :

1. synthesizing and organising information.

2. removing sub-concepts.

3. by disconnecting information from social context.

4. putting over-emphasis on recall.

Question Number : 26 Question Id : 34844244070 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 34844244071 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

'Errors' made by children in the process of learning are indicative of-
Options :

1. the need for more drill and practice.

2. permanent cognitive inabilities to learn.

3. qualitative difference in children's thinking as compared to adults.

4. genetic influences on cognitive development of children.

Question Number : 27 Question Id : 34844244071 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 34844244072 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

It is very important for a teacher to have the ability to put herself in students' place and feel what

they feel. This ability iscalled_______
Options :

1. Sympathy

2. Empathy

3. Apathy

4. Guilt

Question Number : 28 Question Id : 34844244072 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 29 Question Id : 34844244073 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In a situation when outcome is uncertain but focus is on failure, a child is likely to experience_____
Options:

1. Boredom

2. Anxiety

3. Anger

4. Shame

Question Number : 29 Question Id : 34844244073 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 34844244074 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following strategy will not enhance the quality of teaching-learning process?
Options :

1. using multiple means to represent the information.

2. giving multiple options to express the opinions.

3. applying multiple ways to assess the learning.

4. using multiple ways to label the children.



Question Number : 30 Question Id : 34844244074 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 34844244075 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Radha, Manish, Rajesh and Asha want to divide 137 marbles among them. If each one wants equal number
of marbles, how many more marbles has to be added to the given collection of marbles?

Options:
1.1

Question Number : 31 Question Id : 34844244075 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2. 2
3.3



Question Number : 32 Question Id : 34844244076 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select the group of improper fractions:

Options :

| e
| ka

| =

| e

w |-
0| e

Question Number : 32 Question Id : 34844244076 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 34844244077 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What will be the sum of the different prime factors of the number 277207

Options :
1. 28

2. 17

3. 40

Question Number : 33 Question Id : 34844244077 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

27720 3 FTHTST J‘L’JHG‘JE%WQ"‘FTEFIT?ITWT )
Options :

7. 28

2. 17

Question Number : 34 Question Id : 34844244078 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mohan has some toffees. He gave i to Amar, i to Akbar, é to Anthony and % to Charanpreet. One dozen
toffees are still left with Mohan. How many toffees Mohan had (in dozen) initially.

Options:
1.4

Question Number : 34 Question Id : 34844244078 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 35 Question Id : 34844244079 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
The sum of any three consecutive natural numbers is always divisible by

Options :
1.9

Question Number : 35 Question Id : 34844244079 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:

1. 2

[

Question Number : 36 Question Id : 34844244080 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If the 6 digit number 24678 x is divisible by 11 and 5 digit number 3671 y is divisible by 9, what will be the

+
value of =2 7

-y



Options :

W | k2 P3| ra |

| e

Question Number : 36 Question Id : 34844244080 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 37 Question Id : 34844244081 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Find the odd one out:

Options :

1. Octahedron

2 Cube
3. Tetrahedron

4. Pentagonal Prism

Question Number : 37 Question Id : 34844244081 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 38 Question Id : 34844244082 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The diagonals of a quadrilateral hisect each other at 90° (at right angles). The quadrilateral CANNOT be a;
Options:

1. Square
», Rectangle

3. Rhombus

4. Kite

Question Number : 38 Question Id : 34844244082 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 91l

Question Number : 39 Question Id : 34844244083 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If the side of the square is doubled. The area of the square will be

Options :



1. Twice

> Thrice

3. Four times

4. Half

Question Number : 39 Question Id : 34844244083 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

Question Number : 40 Question Id : 34844244084 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Size of a small packet of Biscuit is 12cm xbem x3cm. A wholesaler wants to pack these small packets in a
box whose internal measurement is 0.5m x0.25m x18cm. How many biscuit packets can be packed in the
box?

Options :
1. 100



5 125
3. 225

4. 200

Question Number : 40 Question Id : 34844244084 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 100

Question Number : 41 Question Id : 34844244085 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The area of a region is

Options :

1 always bigger than its perimeter

, determined by the formula 2 (length + breadth)



3. always determined by multiplying length into breadth

4. Measure of the space occupied by the region on the surface

Question Number : 41 Question Id : 34844244085 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Options :
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Question Number : 42 Question Id : 34844244086 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

60 litre and 750 milllitre of milk is filled in 27 bottles, each of the same size. The quantity of milk in 17 such
bottles is

Options:
1. 38 litre

> 38 litres and 250 millilitre



3. 37 litre 750 millilitre

4. 38 litre and 750 millilitre

Question Number : 42 Question Id : 34844244086 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

1. 38 FET

4. 38 e 750 Toefiefien

Question Number : 43 Question Id : 34844244087 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following numbers are missing from the given sequence
0,1.1,.235813, 3455,

Options :
. 2575

, 15,61

5 20,88



4 21,89

Question Number : 43 Question Id : 34844244087 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
EERIE] EREL ﬁﬁmﬁﬂnﬁmﬁﬁﬁa‘?
0:1:1:2.3.:5,8. 13, .34:55,

Options:

1. 23,75

Question Number : 44 Question Id : 34844244088 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Meenu has a cube of side 1em. She can arrange exactly 30 such cubes in her box. If Mahima has a
rectangular shaped dice with length 2cm, breadth 1cm ah height Tem. How many such dice she can arrange
in Meenu's box if it is empty.

Options :
1. 32

2. 60

3. 15



Question Number : 44 Question Id : 34844244088 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 32

Question Number : 45 Question Id : 34844244089 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The ratio between the breadth and the perimeter of a rectangle is 1:5. What is the ratio between the length
and breadth of the rectangle?

Options:
1. 3:2
2. 4:3

3. 5:2

4. 2:3



Question Number : 45 Question Id : 34844244089 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1. 3:2

2. 4:3
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Question Number : 46 Question Id : 34844244090 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Aclass V mathematics teacher, Mr.Jacob gave the following two word problems to his students:
(a)Kamal wants to arrange 15 oranges in 3 equal rows. How many oranges should he put in each row?
(b)Kamal wants to arrange 15 oranges in rows such that there are 5 oranges in each row. How many
such rows can he make?
Which of the following statement is true in the given situation?

Options :
1. Posing two similar word problems was not required as both involve division operation.

The teacher has the clarity on different types and sub-types of word problems that exist under division
2. structure.

3. Both the problems are based on equal sharing structure of division.



4. The teacher wants the students to learn the multiplication tables of 3 and 5.

Question Number : 46 Question Id : 34844244090 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 34844244091 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a suggested strategy to enhance foundational numeracy skills?

Options :

1 use of manipulatives

5 Uuse of numerical problems



3. Use of stories, rhymes and games

4. Instruction in mother tongue

Question Number : 47 Question Id : 34844244091 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 34844244092 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
|dentify the most appropriate activity for introducing the concept of shapes to primary class students.
Options:

Students should be provided with opportunities to share their experiences related with different
1. Objects/materials around them.

» Pictures of different shapes should be shown on a chart to students.



3. Teacher should draw different shapes on blackboard and introduce it one by one.

4. Definitions of different shapes should be provided to the children.

Question Number : 48 Question Id : 34844244092 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 34844244093 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following steps are NOT involved in problem solving?
Options :

1. Developing unreasonable algorithms.

, Formulation of the plan.



3. Interpreting the answer.

4. Understanding the problem.

Question Number : 49 Question Id : 34844244093 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 34844244094 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Radha has Rs.450 and Sheena has Rs.550. How much more money does Sheena have than Radha?
Achild is asked to solve the above word problem. The child solves it as 450+550. What may be the most
probable reason for this answer?

Options :
1 The child has poor reading skills

2 The child finds that Rs.550 cannot be subtracted from Rs.450.

3. The child does not know the algorithm for addition of numbers.



4. The child has associated the word ‘more’ with addition.

Question Number : 50 Question Id : 34844244094 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 34844244095 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Counting and grouping activities using concrete material should be done with students before introducing the
concept of place value. What is the purpose of this activity?

Options:

1 To improve the fine motor skills of students.

» It helps in making bundles of objects used in daily life.



3. It helps in identifying different shapes of given material.

4. Ithelps in understanding the concepts of grouping and exchange in place value system.

Question Number : 51 Question Id : 34844244095 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 34844244096 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘The sum of any two whole numbers is a whole number’, is called of whole number addition.

Options :
1. Commutative property

5 Closure property



3. ldentity property

4. Additive property

Question Number : 52 Question Id : 34844244096 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 34844244097 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“Holistic thinking” is an important first step in leaming of geometry according to the Van Hiele theory hecause

Options :

1 Itis the basis for analysing shapes and developing visualisation skills.
5 It helps the child to memorise the names of geometrical shapes.

3. It helps the child to score better marks in geometry.



4. It helps the child to solve tangram puzzles.

Question Number : 53 Question Id : 34844244097 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 34844244098 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher asks her students to make a greatest 4 digit number using any four digits with the condition that 5
should be fixed at one’s place. This is an example of:

Options :
1. Open Ended Question

> Closed Ended Question

3. Contextual Question



4. Essay type Question

Question Number : 54 Question Id : 34844244098 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 34844244099 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is most appropriate for representation of decimal numbers.
Options :

1. Tangram

> Dienes block

3. Agrid paper



4. Number chart

Question Number : 55 Question Id : 34844244099 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 56 Question Id : 34844244100 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which among the following statements related to Mathematics is/are correct?
a. Mathematical problems should be solved by methods given in textbooks.
b. Mathematics involves numbers and number concepts only.
c. Solving mathematical problems enhance critical thinking.

Options :
1 onlya

5, onlyb

3 onlyc



4. aandc

Question Number : 56 Question Id : 34844244100 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 34844244101 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Abus no 405 runs between Place A and Place B. Which type of use of numbers has been depicted in the
above statement?

Options :
1. Observable number

2 Ordinal number

3. Cardinal number



4. Nominal number

Question Number : 57 Question Id : 34844244101 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 58 Question Id : 34844244102 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

*“Mistakes are a necessary part of learning”
Options :

1 Is wrong since it shows that students are not performing as expected.

Is correct since it will provide opportunity to both teacher and students to analyse the mistakes and address
5. them effectively.

3. Is correct since it shows that students are not learning because the math teacher is not efficient.



4. IS Wrong since Ieammg reguires accuracy

Question Number : 58 Question Id : 34844244102 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 59 Question Id : 34844244103 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a higher goal of Mathematics learning according to the National Curriculum
Framework (NCF), 2005?

Options :
1. Making a child proficient in solving problem in mathematics

5 Turning out employable adults who can contribute to social and economic development of the country

3. Developing the inner resources of the child for mathematisation of his or her mind



4. To develop the knowledge of patterns and numbers among students

Question Number : 59 Question Id : 34844244103 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 34844244104 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A person says “girls are better in mathematics than boys”. For this claim which of the following data will help
him?

Options :
1. getting opinion of many persons in the community

5 giving test to the class and comparing the marks obtained by boys and girls
3. his prior experiences at home and school

4. Vvarious research studies in the domain of gender and mathematics



Question Number : 60 Question Id : 34844244104 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 1
Sub-Section Id : 3484422291

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 34844244105 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The animal, who can move its ears in different directions which helps him to catch the sounds

from all directions, is
Options :

1. Langur

2. Sloth

3. Dog

4. Tiger

Question Number : 61 Question Id : 34844244105 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 62 Question Id : 34844244106 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select the activity which is different from the other activities :

preparing tea, swimming, combing hair, kneading dough
Options :

1. Preparing tea

2. Swimming

3. Combing hair

4. Kneading dough

Question Number : 62 Question Id : 34844244106 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 63 Question Id : 34844244107 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Match the items of Column I and II

I (Name of bird) I (Description about nest)

A Sunbird (I) Does not make its own nest. Crow makes nest for the bird in which it lays eggs.

B Koil (II) Nest made of grass in the space between the stones along the roadside. On the top are

placed soft twigs, roots, wool, hair and cotton wool.

C Indian Robin (III) nest of two leaves on a fresh that are stitched together using sharp heak of the

bird

D Tailor bird (IV) Nest hanging from the branch of a small tree. It has hair, grass, thin turnings,

dry leaves, cloth pieces etc.
Options :

1.A-(IV)B-(II) C-(I) D - (I1I)
2.A-(I)B-(Iv) C-(II) D - (I1I)
3.A-(I) B-(II) C-(IV) D - (IIT)

4. A-(IV)B-(I) C-(II) D - (III)

Question Number : 63 Question Id : 34844244107 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 34844244108 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A group of three eatables each member of which is rich iniron is
Options :

1. Spinach, jaggery, amla

2. Spinach, amla, tomato



3. jaggery, cabbage, amla

4. Spinach, Onion, tomato

Question Number : 64 Question Id : 34844244108 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

71 e WaTdT T T HE 0 1 2 e e Wa § I aed Ty AT A 2 27
Options:

, TTeTE, AT, T

4 Yicdsn, Wia, cHlcl

Question Number : 65 Question Id : 34844244109 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Tittle of the lesson of the class V book written by the President of our country is
Options :

1. Every Drop Counts

2. A Treat for Mosquitoes

3. Blow Hot Blow Cold

4. On the move Again

Question Number : 65 Question Id : 34844244109 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 34844244110 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A car covers a distance of 1512 kilometres in 28 hours. The average speed of the car is
Options :

1.15 km/h

2.15m/s

3.30 m/s

4,54 m/s

Question Number : 66 Question Id : 34844244110 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. 15 km/h



2 15 m/s
3. 30 m/s

4. 3 m/s

Question Number : 67 Question Id : 34844244111 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In one of the state of our country it is observed that most of the houses in rural areas are made on
the strong bamboo pillars.The wooden floors are made almost 3 to 3.5 m high.The walls of the
houses are also made of wood. Because of heavy rains the roofs of the houses are generally made

slopping. This state could be
Options:

1. Bihar

2. Assam

3. Gujarat

4. Uttrakhand

Question Number : 67 Question Id : 34844244111 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 34844244112 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select from the following a group of three states having their coasts on the Bay of Bengal
Options :

1. Andhra Pradesh, West Bengal , Kerala

2. Andhra Pradesh, Tamil Nadu, Odisha

3. Andhra Pradesh, Odisha, Gujarat

4. Andhra Pradesh, Assam, Tamil Nadu

Question Number : 68 Question Id : 34844244112 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 34844244113 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Jharkhand the village council (Panchayat) allots land for farming by draw of lots. The special unit

used for the allotment of land is "Tin". The meaning of this unit is
Options :

1. A land from which a farmer can procure one tin of seeds

2. A'land on which a farmer grows one tin of seeds

3. A land with a dimension (length x breath) of 50 m x 50 m

4. A land which is equivalent to about one hectare (100m x 100m)

Question Number : 69 Question Id : 34844244113 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 34844244114 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Consider the following statements regarding the practices followed by the farmers of the

Jharkhand under "Jhoom farming" :

(A) After cutting one crop the land is left as it is for same years

(B) The weeds (bamboo etc.) are pulled out and burnt in the field

(C) The ash of the weeds acts as manure.

(D When the land is ready for farming it is ploughed deeply before growing the seeds . The correct

statements are
Options :
1.A,Band D
2.A,CandD
3.Aand Conly

4.B,Cand D

Question Number : 70 Question Id : 34844244114 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 34844244115 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In our country the tribal people have been using bronze to make many things (pots, statues etc.)
since thousand of years. Even now we use bronze in our houses. Select from the following the

most appropriate statement about bronze.

Options :

1. Bronze is an element like iron, silver etc.

2. Bronze is a mixture of aluminium , copper and zinc
3. Bronze is an alloy of copper and zinc

4. Bronze is an alloy of copper and tin

Question Number : 71 Question Id : 34844244115 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 34844244116 Question Type : MCQ Option Shuffling : Yes
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study a portion of the time table for the route of a train

6335 Nagarcent Express

Sl Station Name Arrival Departure Distance
No Time time (Kilometre)
1 Gandhidham 06:15 0

2

4 Surat 16:15 16:20 530

On the basis of the above table the average speed of the train between the two station i.e.

Gandhidham and Surat is

Options :

1.34 km/h
2.36 km/h
3.53 km/h

4. 54 km/h

Question Number : 72 Question Id : 34844244116 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 34 km/h

> 36 km/h
3. 53 kmm/h

4. 54 km/h

Question Number : 73 Question Id : 34844244117 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Kannauj is a city famous for perfume(itr). This city is a district of one of the states of India called
Options :

1. Utter Pradesh

2. Uttrakhand

3. Gujarat

4. Maharashtra

Question Number : 73 Question Id : 34844244117 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 74 Question Id : 34844244118 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Study the rates of petrol and diesel in New Delhi, given in the following table

Qil Rates of one litre in 2020 Rates of one litre in 2021
Diesel Rs 81 Rs 90.72
Petrol Rs 92 Rs 102.12

In one year the increase in the rates of diesel and petrol respectively is
Options :

1.10% and 9%

2.12% and 10%

3.12% and 11%

4.13% and 11%

Question Number : 74 Question Id : 34844244118 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 34844244119 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A set of three Indian festivals celebrated on the full-moon day is

Options:

1. Diwali, Holi, Mahashivratri

2. Diwali, Holi, Rakshabandhan

3. Holi, Rakshabandhan, Guru Nanak Birthday

4. Holi, Guru Nanak Birthday, Makar Sankranti

Question Number : 75 Question Id : 34844244119 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 34844244120 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

EVS textbook at primary level are designed carefully so that students do not form misconceptions
during teaching - learning. Which features of the textbooks do you think is/are the most

appropriate towards this?

Options :

1. There is detailing of concept to clarify and to avoid formation of misconceptions.

2. Definitions of important concepts are given in the textbooks.

3. Concepts which can not be perceived by young students as given at the introductory level.

4. All of the above

Question Number : 76 Question Id : 34844244120 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 34844244121 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Community resource is considered an important teaching - learning resource for EVS at the

primary level, because

Options:

1. it is inexpensive

2. it has experienced person

3. it provides experiential learning

4. it is easily available

Question Number : 77 Question Id : 34844244121 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 34844244122 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Students of 5t class in an EVS classroom estimate the number of Chana seeds required to fill a

small box. Which process skill can be developed through this activity?
Options :

1. Classification

2. Communication

3. Experimentation

4. Prediction

Question Number : 78 Question Id : 34844244122 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 34844244123 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Plants and Animals are part of the Theme 'Family and friends'. The reason for such placement is :-
A. To enable students to consider plants & animals as part of their families
B. To develop sensitivity in students towards plants & animals

C. To break stereotypes that plants & animals can not be part of our family
Options :

1.A&B

2.B&C

3.A&C

4. A, B&C

Question Number : 79 Question Id : 34844244123 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 34844244124 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

One of the major objective of the teaching of EVS at the primary level is to enable students to
Options:

1. acquire skills to carry out activities independently to save the environment

2. acquire environmental concepts for studies at upper primary level

3. help students to link classroom learning to life outside the school.

4. help students develop understanding beyond subjects

Question Number : 80 Question Id : 34844244124 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 34844244125 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

There is no prescribed textbooks for EVS for classes I & II. Which of the following is the most

appropriate reason for this?

Options :

1. EVS textbooks make the school bag heavier for children.
2. Students of class I & Il do not understand EVS easily.

3. EVS is integrated with language and mathematics.

4. Students of class I & II can not be burdened with an additional subject like EVS.

Question Number : 81 Question Id : 34844244125 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 34844244126 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is/are the most appropriate strategy/ strategies to sensitise students

towards conservation of plants & trees?

A. Visiting a godown having wooden longs



B. Writing posters to save forest from cutting
C. Role - playing on conservation of forests

D. Adopting a tree and taking care of it
Options :

1.A,Cand D

2.B,Cand D

3.CandD

4. D only

Question Number : 82 Question Id : 34844244126 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 34844244127 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which is the correct approach by an EVS teacher for evaluating students' knowledge in EVS?
Options :

1. Standardised tests suitable to maintain national standards.

2. Teacher made tools suitable for her method of teaching.

3. Common tests developed by examination departments.

4. Teacher made tools suitable to her-students, her method of teaching and local contexts.

Question Number : 83 Question Id : 34844244127 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 34844244128 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the options below should ideally follow all activities done by students to consolidate their

learning?

Options :



1. Activities conducted at home
2. Explanation of the activity by teacher
3. Discussion in the classroom

4. Maintaining record in EVS copies

Question Number : 84 Question Id : 34844244128 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 34844244129 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following will be used by EVS teachers to assess the authentic learning of their

students?

Options :

1. Quarterly tests

2. Assignment notebooks
3. Portfolios

4. Classroom behaviour



Question Number : 85 Question Id : 34844244129 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T 9 2 T o S 3 U o TR T AR T o AT g 21 4 A AT 5 5 T
Gk

Options :

| T e

, T FHE ﬁmdﬂm

3 = ‘xﬁ ‘\

4 FET Y TAER

Question Number : 86 Question Id : 34844244130 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is the most appropriate strategy or resource while teaching the theme

"Things we make and do" ?

Options :

1. Visit to a historical monuments to identify various building materials and designs
2. Discussion of various types of head gear worn by people of different regions

3. Instruction about different type of pots from reference books

4. Sharing of figures of different types of farm implements

Question Number : 86 Question Id : 34844244130 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 34844244131 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Students of class 3 learn about their family members, and then move on to family tree in class 4

and to the idea of family interaction in class 5. The curriculum approach in this theme is :
Options :

1. Abstract to concrete

2. Global to local

3. Local to global

4. General to specific

Question Number : 87 Question Id : 34844244131 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 34844244132 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is an important element for a teacher to consider in an EVS lesson plan
A. Instructional/specific objectives

B. Student's environmental consciousness

C. major concepts and Process Skills

D. General Objectives
Options :

1. Aonly

2.Conly

3.A,B&C

4. A, C&D

Question Number : 88 Question Id : 34844244132 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 34844244133 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is the most appropriate strategy to teach EVS to the visual impaired

students?

A. Prepare audio lessons

B. Use tactile materials or large prints

C. Explaining concepts with simple diagrams & concrete objects

D. Make the EVS lesson as much concrete as possible
Options :
1. Aonly

2.Bonly



3.Conly
4.A,B&D

Question Number : 89 Question Id : 34844244133 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 34844244134 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Salim wants to take students of primary classes on a field visit while teaching the theme 'water'.

Which of the following sites will he select?
A. Water Harvesting Plants

B. Johad



C. Baoli

D. Khejadi
Options :
1.A&C
2. Aonly
3.A&D

4. A, B&C

Question Number : 90 Question Id : 34844244134 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Directions : Read the passage given below and answer the questions
that follow by choosing the correct/most appropriate options:

1. Uttarakhand, the birthplace of India’s major rivers like the
Ganga and the Yamuna and home to the Himalayan ranges, is
rapidly losing its forest land to commercial activities. Data of
over 70% forest land, has lost about 50000 hectares (ha) of its
forest to various development activities in the past 20 years.

2. The top six activities for which around 21207 hectares of
forest land in the state has been diverted are mining, water
pipelines and irrigation. The highest amount of forest cover
has been lost to mining (8760 ha) followed by road
construction (7539 ha), power distribution lines (2332 ha)
and hydropower plants (2295 ha). Other smaller activities
together claimed 20,998 hectares of forest cover. The other
activities comprise laying down of optical fibre, railways,
defence work, construction of buildings etc.

3. Adistrict-wise analysis (from November 2000 to March 2020)
shows that Dehradun (21,303 ha) lost the maximum forest
area, followed by Haridwar which lost 6826 hectares,

Chamoli (3636 ha), Tehri(2457 ha) and Pithoraparh (2,451
ha). This diversion of forest land for commercial activities is
alarming when seen in the backdrop of the latest report of the
forest survey of India (2019).

4. Doon-based environmentalist Anil Joshi said, “How can we
ask for green bonus from the centre when we are not
sensitive about our green cover?” Uttarakhand’s forest cover
is spread over around 38000 sq km , which is 70 % of the
state’s geographical area . It has 112 species of trees 73
species of shrubs and 94 species of herbs, all of which,
scientist say, are facing the heat of development activities.

Sub questions

Question Number : 91 Question Id : 34844244136 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The writer’s main purpose in the report is to describe

the scenic beauty of Uttarakhand.

focus on the huge loss of forest cover.

highlight the development activities in the state.
4. draw attention to lack of employment in the state.

b B e

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34844244137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select the option that shows that Uttarakhand is a unique
state according to the passage.

A. It has a salubrious climate
B. Itis home to the Himalayan range
C. It has arich cultural life
D. It is the birthplace of the Ganga and the Yamuna
1. AandB
2. CandD
3. Band D
4. AandD
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34844244138 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following activities has caused the maximum
forest loss in Uttarakhand?

Hydropower plants
Mining activities

Road construction

4. Power distribution lines

ol e B

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34844244139 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The term ‘optical fibres’ is associated with

information technology
mining activities

road construction

4. hydropower plants

il il v

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34844244140 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



According to the author, development activities are playing
havoc with

1. a settled way of life.

2. peoples health.

3. Uttarakhand’s environment.
4. traditional Values.

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34844244141 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words is most similar in meaning to
the word ‘various’ in para 17

useful
uniform
different
4. connected

ol v B

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34844244142 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following words is opposite in meaning to the
word, ‘alarming’ used in para 37

confounding
comforting
distracting
4. electrifying

Ll

Options:
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34844244143 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the
sentence given below? ‘Uttarakhand is the birthplace of
India’s major rivers’

MNoun
Adjective
Adverb
4. Pronoun

e I B

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34844244144 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which part of the sentence given below contains an error?

He congratulated his sister

(a) (b)

for her success in the examination.
(c) (d)
1. (d)
2. (a)
3 [
4. (b}

Options :

1.1

2.2

3.3

4.4

Question Id : 34844244135 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Directions : Read the passage given below and answer the questions
that follow by choosing the correct/most appropriate options:

1. Uttarakhand, the birthplace of India’s major rivers like the
Ganga and the Yamuna and home to the Himalayan ranges, is
rapidly losing its forest land to commercial activities. Data of
over 70% forest land, has lost about 50000 hectares (ha) of its
forest to various development activities in the past 20 years.

2. The top six activities for which around 21207 hectares of
forest land in the state has been diverted are mining, water
pipelines and irrigation. The highest amount of forest cover
has been lost to mining (8760 ha) followed by road
construction (7539 ha), power distribution lines (2332 ha)
and hydropower plants (2295 ha). Other smaller activities
together claimed 20,998 hectares of forest cover. The other
activities comprise laying down of optical fibre, railways,
defence work, construction of buildings etc.

3. Adistrict-wise analysis (from November 2000 to March 2020)
shows that Dehradun (21,303 ha) lost the maximum forest
area, followed by Haridwar which lost 6826 hectares,

Chamoli (3636 ha), Tehri(2457 ha) and Pithoraparh (2,451
ha). This diversion of forest land for commercial activities is
alarming when seen in the backdrop of the latest report of the
forest survey of India (2019).

4. Doon-based environmentalist Anil Joshi said, “How can we
ask for green bonus from the centre when we are not
sensitive about our green cover?” Uttarakhand’s forest cover
is spread over around 38000 sq km , which is 70 % of the
state’s geographical area . It has 112 species of trees 73
species of shrubs and 94 species of herbs, all of which,
scientist say, are facing the heat of development activities.

Sub questions

Question Number : 91 Question Id : 34844244136 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The writer’s main purpose in the report is to describe

the scenic beauty of Uttarakhand.

focus on the huge loss of forest cover.

highlight the development activities in the state.
4. draw attention to lack of employment in the state.

b B e

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34844244137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select the option that shows that Uttarakhand is a unique
state according to the passage.

A. It has a salubrious climate
B. Itis home to the Himalayan range
C. It has arich cultural life
D. It is the birthplace of the Ganga and the Yamuna
1. AandB
2. CandD
3. Band D
4. AandD
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34844244138 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following activities has caused the maximum
forest loss in Uttarakhand?

Hydropower plants
Mining activities

Road construction

4. Power distribution lines

ol e B

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34844244139 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The term ‘optical fibres’ is associated with

information technology
mining activities

road construction

4. hydropower plants

il il v

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34844244140 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



According to the author, development activities are playing
havoc with

1. a settled way of life.

2. peoples health.

3. Uttarakhand’s environment.
4. traditional Values.

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34844244141 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words is most similar in meaning to
the word ‘various’ in para 17

useful
uniform
different
4. connected

ol v B

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34844244142 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following words is opposite in meaning to the
word, ‘alarming’ used in para 37

confounding
comforting
distracting
4. electrifying

Ll

Options:
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34844244143 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the
sentence given below? ‘Uttarakhand is the birthplace of
India’s major rivers’

MNoun
Adjective
Adverb
4. Pronoun

e I B

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34844244144 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which part of the sentence given below contains an error?

He congratulated his sister

(a) (b)

for her success in the examination.

() (d)

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2

Sub-Section Id : 3484422293

Question Shuffling Allowed : Yes

Question Id : 34844244145 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Read the extract given below and answer the guestions by selecting the
correct / most appropriate options:

There will come soft rains and the smell of the ground,
And swallows circling with their shimmering rounds;

And frogs in the pools singing at night,
And wild-plum trees in their tremulous white.

Robins will wear their feathery fire,
Whistling their whims on a low-fence wire;

And not one will know of the war, not one
Will come at last when it is done.

Not one would mind neither bird nor tree,

If mankind perished utterly;

And Spring herself , when she woke at down
Would scarcely know that we were gone.

Sub questions

Question Number : 100 Question Id : 34844244146 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The natural world as described in the poem is

engaged a bitter struggle for survival.
totally indifferent to human concern.
basking in the glory of its surrounding.
4. described as cold and blind

.l il e

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34844244147 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The word “it” in the line : “‘When it is done’ refers to

the end of the day.
spring.

war.

the assigned job.

W L B e

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34844244148 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The beauty of the human world is marred by

uncertainties of life
human problems
natural disasters
struggle and conflicts

B e

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34844244149 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Read the following statement :

A. There is peace and harmony in nature.
Brutality of war has no effect on nature.

A is true and B is false
B is true and A is false.
Both A and B are false.
4. Both A and B are true.

o

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34844244150 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

|dentify and name the figure of speech used in line number
67

Simile
Alliteration
Irony
4, Metonymy

il ol

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34844244151 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which figure of speech has been used in the following
lines?

“And Spring herself , when she worked dawn,
Would scarcely know that we were gone”.

1. Metaphor

2. lrony

3. Personification
4, Metonymy

Options :
1.1
2.2
3.3
4.4

Question Id : 34844244145 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the extract given below and answer the guestions by selecting the
correct / most appropriate options:

There will come soft rains and the smell of the ground,
And swallows circling with their shimmering rounds;

And frogs in the pools singing at night,
And wild-plum trees in their tremulous white.

Robins will wear their feathery fire,
Whistling their whims on a low-fence wire;

And not one will know of the war, not one
Will come at last when it is done.

Not one would mind neither bird nor tree,

If mankind perished utterly;

And Spring herself , when she woke at down
Would scarcely know that we were gone.

Sub questions



Question Number : 100 Question Id : 34844244146 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The natural world as described in the poem is

engaged a bitter struggle for survival.
totally indifferent to human concern.
basking in the glory of its surrounding.
4. described as cold and blind

L B e

Options:
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34844244147 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The word “it” in the line : “‘When it is done’ refers to

the end of the day.
spring.

war.

the assigned job.

L B e

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34844244148 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The beauty of the human world is marred by

uncertainties of life
human problems
natural disasters

4. struggle and conflicts

b B e

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34844244149 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statement :

A. There is peace and harmony in nature.
Brutality of war has no effect on nature.

A is true and B is false
B is true and A is false.
Both A and B are false.
4., Both A and B are true.

o

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34844244150 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ldentify and name the figure of speech used in line number
67

Simile
Alliteration
Irony
4, Metonymy

Ll

Options:
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34844244151 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which figure of speech has been used in the following
lines?

“And Spring herself , when she worked dawn,
Would scarcely know that we were gone”.

Metaphor
lrony
Personification
4. Metonymy

Gl B et

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 3484422294

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 34844244152 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Chomsky, ‘set of rules in the mind of humans’ is known as

grammar box
universal grammar
integrated grammar
4. rule book

.l il e

Options:
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34844244152 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Chomsky, ‘set of rules in the mind of humans’ is known as

grammar box
universal grammar
integrated grammar
4. rule book

sl il

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34844244153 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘Language is a social concept’, this includes the idea that language is

1. acquired through social interaction
2. inherited
3. learnt through conditioning
4. innate capacity
Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34844244153 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Language is a social concept’, this includes the idea that language is

1. acquired through social interaction
2. inherited
3. learnt through conditioning
4. innate capacity
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34844244154 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not related to the behaviourist theory of language acquisition?

Operant conditioning
Empty vessel

Trial and error

Social interaction

el ol



Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34844244154 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not related to the behaviourist theory of language acquisition?

Operant conditioning
Empty vessel

Trial and error

4. Social interaction

Ll sl

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34844244155 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Cognitive theory of language development supports that language is

innate capacity of an individual

learnt through reward and punishment

learnt through interaction with in the society

dependent on child’s understanding of the concept before verbalizing it

o Ll Tk P

Options :
1.1
2.2
3.3



4.4

Question Number : 109 Question Id : 34844244155 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Cognitive theory of language development supports that language is

innate capacity of an individual

learnt through reward and punishment

learnt through interaction with in the society

dependent on child’s understanding of the concept before verbalizing it

il ol

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34844244156 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following are not related to emergent literacy?

Understanding that print carry meaning
Early phonological awareness

Basic alphabet knowledge

Note making

o L B b

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34844244156 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following are not related to emergent literacy?

Understanding that print carry meaning
Early phonological awareness

Basic alphabet knowledge

Note making

o L B b

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34844244157 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is a strategy for developing reading skills? Choose the correct answer.

Developing reading corners in the class help in developing reading skills

Making children sit in pairs and asking them to discuss about their likes and dislikes
both aand b are correct

ais correct and b is incorrect

b is correct and a is incorrect

4. hotha and b are incorrect

P = B

Options:
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34844244157 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following statements is a strategy for developing reading skills? Choose the correct answer.

Developing reading corners in the class help in developing reading skills

Making children sit in pairs and asking them to discuss about their likes and dislikes
both aand b are correct

ais correct and b is incarrect

b is correct and a is incarrect

4. botha and b are incorrect

e = O B

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34844244158 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Incidental vocabulary learning takes place when children acquire vocabulary through

1. listing to books read aloud to them

2. teaching word learning strategies in isolation.

3. teaching specific words for understanding of texts containing the words
4. making them learn meaning of new words selected by teacher

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34844244158 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Incidental vocabulary learning takes place when children acquire vocabulary through

listing to books read aloud to them

teaching word learning strategies in isolation.

teaching specific words for understanding of texts containing the words
making them learn meaning of new words selected by teacher

o s o

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34844244159 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Audience and purpose of writing are identified during stage in the process writing approach.
1. revising
2. prewriting
3. editing
4, drafting

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34844244159 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Audience and purpose of writing are identified during stage in the process writing approach.
1. revising
2. prewriting
3. editing
4, drafting

Options :



1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34844244160 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Phonemic awareness refers to

ability to establish relation between phonemes and graphemes
ability to identify and manipulate phonemes in spoken words
reading words accurately and fluently

writing with correct spelling

= L R B

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34844244160 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Phonemic awareness refers to

ability to establish relation between phonemes and graphemes
ability to identify and manipulate phonemes in spoken words
reading words accurately and fluently

writing with correct spelling

= L R B

Options :
1.1
2.2
3.3
4.4



Question Number : 115 Question Id : 34844244161 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an effective reading strategy?

1. Reading is decoding the meaning of letters or words in the text.

2. Reading is unconscious thinking process.

3. Reading is applying peer’s knowledge to reconstruct the meaning of the text.
4. Reading is just the ability to join the sounds of words.

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34844244161 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an effective reading strategy?

1. Reading is decoding the meaning of letters or words in the text.
2. Reading is unconscious thinking process.
3. Reading is applying peer’s knowledge to reconstruct the meaning of the text.
4. Reading is just the ability to join the sounds of words.
Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34844244162 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In a good all sentences work together to support the main idea.

1. paragraph
2. draft
3. paraphrase
4, editing
Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34844244162 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a good all sentences work together to support the main idea.
1. paragraph
2. draft
3. paraphrase
4, editing
Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34844244163 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When a person reads an advertisement in the newspaper to look for job vacancy. He is

scanning the text
paraphrasing the text
skimming the text
note-making

il ol



Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34844244163 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When a person reads an advertisement in the newspaper to look for job vacancy. He is

1. scanning the text

2. paraphrasing the text
3. skimming the text
4

. note-making
Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34844244164 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is true for language learning?

1. Language learning happens through reading of language textbooks only.

2. language learning accelerates in print rich environment.

3. Language learning is not required for learning of science and mathematics.
4. Language learning happens unconsciously.

Options :
1.1
2.2
3.3



4.4

Question Number : 118 Question Id : 34844244164 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is true for language learning?

Language learning happens through reading of language textbooks only.
Language learning accelerates in print rich environment.

Language learning is not required for learning of science and mathematics.
Language learning happens unconsciously.

ol vl

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34844244165 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A language teacher asks the students of class IV to write a paragraph. After they finish the teacher corrects each child's
paragraph writing and encircles grammatical errors in red. The strategy of teacher’s

1. helpful for developing writing skills

2. inappropriate for language learning

3. child friendly

4, appropriate for developing writing skills

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34844244165 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A language teacher asks the students of class IV to write a paragraph. After they finish the teacher corrects each child's
paragraph writing and encircles grammatical errors in red. The strategy of teacher’s

1. helpful for developing writing skills

2. inappropriate for language learning

3. child friendly

4. appropriate for developing writing skills

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34844244166 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In language learning , story —telling is an effective medium for

providing moral education.
developing listening skills.
developing writing skills.

engaging the children in free time.

= L B B

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34844244166 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In language learning , story —telling is an effective medium for

1. providing moral education.

2. developing listening skills.

3. developing writing skills.

4. engaging the children in free time.
Options :
1.1
2.2
3.3
4.4

Language II

SectionId: 3484421149
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 3484422295
Question Shuffling Allowed : Yes

Question Id : 34844244167 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension



freeTTae Tt 1 Uee I 0 T4 F e SUg I T e
ﬂﬁ'ﬂj_
ST F IH TEIELT 1 9 9E 2| TR ST ] qad S 96
ST I & AT S S Y BT 2 39 AT = &l | 37 39
Wﬁtﬁqﬁﬁgﬁgdwu O & TeAT SITaTe T SIUATET STEYIE 2
STITH ST i - GEe Tl 2| STITH IR F Tie® of TFK
T TN 2| T ST W § 6 o S U A 8 9
FEA F TS AT 2 IR ST ¥ o7 3833, el g q
2T TR, 7T 5 AT, TEEART FAT, T ST T [ T
W T T TFd 2| TS ST 3 7571 STee-U e, ﬂfig-uﬁam
3 T FUT IS 2T(7E T 37 2

STa B AEeTAT TR UT AT 2| T S FE o7 &
AT €, T 190, 0 W STEWE Tel | 3T THN Feied © 16 o
T T 9 T T H| I ST TATE G 5 S gt
STHIT SHTAT =TEAT & YT ST § Toherd] BT il OHT =1edl & 3
TR % T3 6 UTe ST =]

Sub questions

Question Number : 121 Question Id : 34844244168 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fea A TEATT Wi B
. sy

=

3. T

4. @

Options :

[-J

1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34844244169 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Hjﬂﬂﬂﬁﬂ% EI?:.TE'@'%—
|. T
2. B

3. WS
4, AT
Options:
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34844244170 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Fifeer =T R AR B
|. STe3-UEeAT B AT
2. TTSHIRT FAT
3. IS T
4. e T F T

Options :

1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34844244171 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



mﬁf@ﬂ1qlﬂﬁl-|gnq E) AT 2
1. ATFaIT. ST
2. drehdd, A4

-
3. dAdH™, TH21TA

4. Taume, A
Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34844244172 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ST TR o oA fore oTee o1 s feram mar 2 —
|. "Rl
2. 99
3. H=EEFH
4. 5=
Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34844244173 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34844244174 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

el T B —
|. |

fammm

3. T

4. Toman-fasmor

Options :

I-J

1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34844244175 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



1. =%
2. T

[}

3. 49T
4. Hhdar

T T FE W FE T FHAT | T g Fum e -

Options :
1.1
2.2
3.3
4.4

Question Id : 34844244167 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)
Question Label : Comprehension
freTTae et 1 Uee I8 0 T4 % e UL I AT e
ﬂﬁq_
ST E IH TR i 9 9E 7l SR S 1 qad o] 96
EIETE‘@% T ST T ==Y =GT 2 39 T 5T =47 2] 374 3l
T T FETRY § PIHT U 3 o0 s i SO STy |
ST SITF & =T g8 @] 2| STETH SR F FifesF o UK
T SN 2| ST ST e § 5 3 S U A B 9
T F A ST 2| ST SATaTH o [0 §8-838%, gl GEIR
3T T, 74 H AT, TEEART FAT, FA! w1 a4t A= v
éﬁ‘@ﬁ?ﬂ?ﬁﬁ%l ﬁ%ﬁ STITH 3 37774 E‘I?':‘rU%%?ﬁ ﬂ%pﬁﬁﬁﬂm
F T TYT YA TG @ 279

ST 2T AHeTaT TR W AT 2| =Y 46 T o1
=TT 2, 39 (o0 T Wl STEVE TE] 2| I TN T ¢ 196 o
T FUT 67 F AL T | 36 SAHEF T S T T H
STHIT SHTAT =TEAT & YT ST § Hoherd] BT Shsil U1 =1edl ¢ o
T & ST T UTer T w:ul%T{l

Sub questions



Question Number : 121 Question Id : 34844244168 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Sta T TR U7 AT 2
1. =R
2. =TT

|

4. ©
Options :
1.1
2.2
3.3

4.4

Question Number : 122 Question Id : 34844244169 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Hiwﬁﬁﬂ@i ammg‘?—
1. T

=

2. @

S

4, AT

LS ]

Options :
1.1
2.2
3.3

4.4

Question Number : 123 Question Id : 34844244170 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



IEF T FT R TR 2 —
1. Te5-gEefT & AT
2. TSEIRT FAT
3. IS Tl
4. I THUF T

Options :

1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34844244171 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ST TR ¢¢I1-‘-4IH£I'H:|:‘=4 T T
|. ATRadT. ST
SIELERCEEIE!

-3

£
SHeAadidA, 12l

sl

4. TaumE, A
Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34844244172 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TS | T % o o sTer v e T E
1. ¥%AT
2. 99
3. SHEH
4. S=
Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34844244173 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
TR T 9168 & —
1. SiEF
. IR
3. AR

Options :

-3

1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34844244174 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



3. T
4. Tora-faremoor
Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34844244175 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR S e W o I HFRAT 2| T T U R —

| FrE
ot
3. o
4. Hehdl

Options :

I-J

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 3484422296

Question Shuffling Allowed : Yes

Question Id : 34844244176 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No

Question Numbers : (129 to 135)



Question Label : Comprehension

et &jﬁtﬁb&'ﬁ aqmuﬁ\ému%rtamuﬁmw‘imm&%m
TIHL T Fifeo -

T A T O e ST faranteEt o € S, it ot S
el 2. 3 2 = 99T 9E F T =1 9T #3137 39
SeUT I T ST TR e W T T 2| o Tt
TTeT o6 F 37U 9T S99 1 FH10T ST dehaT ST A= 3 |1
| So% Tk 0T AU T, 2705 THIS, 0 O, S R
AT @ 3 | TEAT =110, 6 37 e § T H F0 a9
] =1 Feh| S Taremeff e gfemRieT & A0 Siae 1 a1 98 w5,
T I TR THTS 3 [0 W =50 21 2

Sub questions

Question Number : 129 Question Id : 34844244177 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TS WA ST EqUT ST TRk el O 2
|. Tt H = w2

. Torerent e W B

3. THRA I T F FET U R

4. TR ¥ e W B

[

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34844244178 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T e = T o gfesmmor & =T =mrem?
I. eI
2. ST

. T

-

4, HRTT

L]

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34844244179 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T S T 3R FHTS 3 70 91 21 S 29

I ﬁt@%ﬁﬁ S § TE@H Fd &4 2
. 1T 29 I ° 1@ w5 A w5 T
3. S OHTS B O g 1 0 B
4. I T2 % fIE & o e e 2

-3

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34844244180 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FARAT T O 7163 FT T &7
l. Hﬁ'%ﬂéﬁ
2. |AE + A
3. A+ FAl
4. G+ dohar
Options :
1.1
2.2
3.3

4.4

Question Number : 133 Question Id : 34844244181 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
frftfiemarafass @ E
1. =t T
2. g5 AN
3. faremeff
4. Torer
Options :
1.1
2.2
3.3

4.4

Question Number : 134 Question Id : 34844244182 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



3. 9
. Toran-faremoor

Options :

1.1

2.2

3.3

4.4

Question Number : 135 Question Id : 34844244183 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T WA T WU ST 7T forantia 3 o S B
TG T8 31 FTE TohE I16% T =0T Hehe] 27

1. 9MHEHT
2. e

4. TETT
Options :
1.1
2.2
3.3
4.4

Question Id : 34844244176 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension



frefeifign et =ee #t samaas Uier 79T I 0 w4t 1 e e
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T I AT -

wwwwa’rﬁamﬁmﬁﬁ%ﬁ SUT B, Ik o S
oot 2. 3 & et 99T YA % TR =01 9EE i 3= 37 39
IeUT S8 2T I SR e OF Fefe et 2| =1 faratedat =
TR0 o6 F 27U W1t g 1 a7 5727 Sashar % SIFET F 6y
| 37 Tk 0T S0 g, 370 AT, 0 &5, STHT Tl i
ST ATGT F I T =M, 56w 3% S & T H FS q
T =1 Teh| S Terameft e gfeeRr & sro Siae @ i T8 w1,
T T IR TS o o0 R w==0 2 2

Sub questions

Question Number : 129 Question Id : 34844244177 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TS WA 3 HqUT AT R e w2
1. Taenfe=n & St w2

. Tt F T

3. TENE 99 I % FE W 2

4. STETEAT % FT W 2

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34844244178 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T e = T o gfesmmor & =T =mrem?
I. eI
2. ST

. T

-

4, HRTT

L]

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34844244179 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T S T 3R FHTS 3 70 91 21 S 29

I ﬁt@%ﬁﬁ S § TE@H Fd &4 2
. 1T 29 I ° 1@ w5 A w5 T
3. S OHTS B O g 1 0 B
4. I T2 % fIE & o e e 2

-3

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34844244180 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FARAT T O 7163 FT T &7
l. Hﬁ'%ﬂéﬁ
2. |AE + A
3. A+ FAl
4. G+ dohar
Options :
1.1
2.2
3.3

4.4

Question Number : 133 Question Id : 34844244181 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
frftfiemarafass @ E
1. =t T
2. g5 AN
3. faremeff
4. Torer
Options :
1.1
2.2
3.3

4.4

Question Number : 134 Question Id : 34844244182 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



3. 9
. Toran-faremoor

Options :

1.1

2.2

3.3

4.4

Question Number : 135 Question Id : 34844244183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T WA T WU ST 7T forantia 3 o S B
TG T8 31 FTE TohE I16% T =0T Hehe] 27

1. 9MHEHT
2. e

4. TETT
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 3
Sub-Section Id : 3484422297

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 34844244184 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

o ST A “WTW 39 27" 3 AT S 10 ¢ 1 372 WTOT W1 H Wera] il 2|
|, T
&=
"-\
Bl
4, feam

Options :

[

L]

1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34844244184 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T I T ST 9 3 Y S O 8 1 9% T e 5 e e
| S

oq

4. T

Options :

[

L]

1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34844244185 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FATeriEd & & .91 ST 3 I - o g ¥ Hatd Tt 27
|. WTHTSTR e R
D, FEEA FAT
3. qeftoey e = 4
4. WTST ST 7 9

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34844244185 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ETeigd o & -9 AT 3 A1 F 0 (g § Fard Ta 27

. WIS ¥a: T
2. HEEd AT
3. qeftoey o = @
4. 99T ST F AT
Options :
1.1
2.2
3.3

4.4

Question Number : 138 Question Id : 34844244186 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



e T ST 5 ¥ T U T T SIS S W ST ST o AT W TR 8
a. ST T/l o SIS 971 3 SHTTaIT 3101 1 78 =i
b, &= 1 T T A
. A T 30 O o o T e
d TRFHRITRH #weﬂﬂ%%@%%@m
I. b,cadTd
2. addrh
3. a,cTdd
4. cTdrd
Options :

1.1
2.2
3.3

4.4

Question Number : 138 Question Id : 34844244186 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T 10 o B & 39 R T T ST S R ST i SaTa 3 A S e B
a. T Terehret 26 STV 991 3 SR 30 1 T8 A=
b. &= 1 T T A
¢. T Tor 1 O Tog o o e
. T % U W AT I T e (@ o (0 e
I. b,cdard
2. addrh
3. acTand
4. cTgTd
Options :

1.1
2.2
3.3

4.4



Question Number : 139 Question Id : 34844244187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
U STee] % A T T ag Ted 7 7U vTeat 3 37y i
. TR S==I1 S WHA T 2
2. TeRT i S HHE T HETHAT HA 2
3. T IS A 1 TTeETET FdT 2
4. HHT F1 FETET AT 2

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34844244187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
U ITeRT 3 Y THEE i ST e O 70 STeaT F Y HigAT
|. 2TET =<1 S YiHd FLET 2
2. ITeaT i FER TH H HETIAT AT 2
3. 7o ITE A Rl TIedTed LT 2
4. HHY ! FaTet T 2

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34844244188 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

_ UTdT s SE-EE F | o7 999 o Hehd g1 2
. faw=ga v
2. T USA
3. ARTNE EUST
4. TRt uaT
Options :
1.1
2.2
3.3

4.4

Question Number : 140 Question Id : 34844244188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
|. T U
2. HET U
B ERIGER e
4. et v

Options :

Tl

1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 34844244189 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T TR ST T o o T 2 T A P S 9 (v 278§ 6 A 2 21 42 T
7] 1 T T 16 T 5 SRt &I A € 7 T eyl U 2 -

|, T3 I 1 T T & o

3, TG T & o

4, TITHF

Options:

1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 34844244189 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T TR ST T 2 o T 3 T A P S 9 (e 28§ 6 A 2 21 4 T
e 1 T T 1T T 5 SRt eI 3 8] 7 T eyl U € -
| T T oA A T
3, T W1 3 e
4, MITHF T

Options :

1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34844244190 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



JUTT ST T ST TSI T 2
1. Terenferar o sree HueT F HaET % fow

ST UTeR T=9HT 3l HRg= & o

3. U AT § SATH] T U A o (e

4. TSR =G o o

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34844244190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
JUTT ST T ST TSI TR 2
1. Terenferar o sree HueT F HaET % fow
2. AT (oM =t HigH = o
3. U AT § SATH] T U A o (e
4. Tfzrar = %ﬁﬁﬂi{

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34844244191 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



WIS BT e W e 2 o o e AT [ T w
. ST
). SIEERATR!

. T o)
3. HHIS-Ahda

-]

(s}

4. HrESTeIdTET
Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34844244191 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

WA F _ HETen QR 6 T T o6 o T T A T Wi g
. HHTR
2. IR

O LN
3. HMISh-AT=hds

2

[

4. HrESTeadTal
Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34844244192 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TITERT ST SET SUTTS 3 T o o707 98 37 o1 =9 i)
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Pu: € oF [

FEUEET T

coe a,d b f
cae:bd T
a.-bedef
4. e ab,cdf

Options :

b — h ®

(sl

1.1
2.2
3.3

4.4

Question Number : 144 Question Id : 34844244192 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

-

TTSRAT AT @ SUNTH 3k | o [e10 T&T 369 AT =147 SIS0
TR

T U3 (T FifEm)

By ! B

HHEE 5499

TR
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YT ST

c.eadbf
c,a,e.b . df
3 abedef
4 e ab,cdf

Options :

D — = O o o



1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34844244193 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

fefem (zrem) <l TEh T T 2
1. 99T 9197 3N

. HUYOUHS ST
3. TR &gd:a%ﬁr

4. Ter-fafe

Options :

[

1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34844244193 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

fefem {Eﬁum_ﬁﬁﬂ@ﬁl%l
1. FHT A6 3arTH

. OIS AT

TR0 3-13*:115%

4. w=-fafer

Options:

-3

L]

1.1
2.2
3.3



4.4

Question Number : 146 Question Id : 34844244194 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T BT T A S A A AT s
1. e srfeme o form i
2. T TR | Frem
3. WTSTH Y78 UTH 0 3 FhTae
4. W97 g T 1h T ST
Options :

1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 34844244194 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T ST A SR A R A s S
1. v arfer 3 ferm e
2. TaT TR o Jremd
3. HETH EEIRREIE T T T
4. ATeT HEE o =g iR T S

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34844244195 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

WTHT AT o TEAEE SUME e e
. U5 THTEFR] 3ﬁ-¢||{%5qﬁ-%a{a'ﬁm]
2. TEd = fHE
A '%EJH-H TS 3:]'&41;44

4. SATHFUT F HIHT T T

Options:
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34844244195 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ATHT AT o TAEE SUMH Y e e
|. e TIEHET ISR o B9 § (51 (2e0E)
2. TEA &1 HET
3. Torsman emeanfie erfery
4. SATFIOT F THIHT T T

Options :

1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34844244196 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



AR FR W OAEE, (NEP) 2020 &3 5 &t 2
|. HTERET T
2. HIELET 997 375 TH T
3. T [T W)
4. HTHTISTeh F<T9 o 31807 9T

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34844244196 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
AR TR WO (NEP) 2020 _ <9 35 #<dl
. |ATEFTET W
2. HTETAT 99T 37 TH W
3. TR T W
4. HTHITSTER 37599 o 30T 0T

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34844244197 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



frferfga o & F=-91 Oiftgss Suv0 o1 g27Er T8 3qT1 27
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